HAN7E 118 DT PTSY  BBARIAIKR

X/ X 1 BRI
— HE ﬁ e /, /, —_— —B— HE ﬁ e /, /, — —E— HE ﬁ P s PA PA —_—
(Z 0 gz Ty |F&1|FE 2| &’E % = Bi=E Fa) |F&1|FE2| RE % = Bz Fa) |F&1|FE2| RE
2889 —)U X X X E A=, X X X Z800h—)U X X X X
BIE= 11| W SBIR= 21| & FHER X X
s 77 )L — A X g T 7 )L — A X X ; g 7 )L — I )4 )4 X
mSYF+PILb—L] X MSYF 1 PIL—LA MSYF 1 PIL—LA X
Z2BtR—IU X X X = 2Bt —IU X X ZBtR—IL X X X
B - = SHIBE
H15T 77 )L — s X | X | - 120 K [gmsrpi—n X | X 22l X mr =i X
ST+ PIL—LA X X - MSYF 1 PIL—LA X mSYF1PIL—AL] X X X
EA=L o X = ZB8m—)L X 2B897h—IL X X -
= - = B -
#higr )L — A X X - 13[ & #higT )L — A X 23| 8 s )L — A X -~
MSYT 1 PIL—LA - ST+ PIb—Ah| X ST+ PIL—LA -
EA= 0l X X X EA= 0l X X EA= 0l X X =
IR A HIER X X BIRE X X -
Hotsl 7 77 )L — /s T e p—n | X 2B mmre—n | X | X -
mSYF1+PI—A| X X ST+ PIL—LA X ST+ PIL—LA -
28898 —)L X X EA= 0l X X X EA= 0l X X X
= = " pE=
s 7 )L — A X X X 15[ L I 7 )L — A X 25| X I 7 I — A X X
MSYT 1 PIb—LA X MSYF1+P)I—AL| X mSYF1P)Ib—AL| X X
ZB8807R—)L X X X ZB8807R—)b X X - ZB88R—)b X X
= = - B
T )L — I X | X OB wmrp—n X | - 26| K [gmr =i X | %X
MSYF« PIL—LA X X MSYF 1 PIL—LA - MSYF 1 PIL—LA X
ZBHR—IU X X X X ZBt—IL X X ZBMh—IL X X
-~ = = B
T e 2L — 1 X | X R wErp—n X | % 2NN Swmrr—n | X
MSYF+ PIL—LA X MSYF 1 PIL—LA mSYF1PILb—L] X X
ZB8R—IU X X X ZBHR—IU X X ZBHR—IU X X
= " = X X N SHIBER
Hotst 7 72 )L — [ X 18 N —A X | % 28| | pmr p—1i
MSYF+ PIL—LA X X MSYF 1 PIL—LA X X mSYF1PILb—L] X X X
ZBiR—IU X X X - ZBtR—IU X X X ZBHh—IU X X X
= - = S X X X
HotET 77 )L — s X | - 19| K Semr =i X | %X 29 T\ Sumrri—n X | X
MSYFT« PIL—LA X X - MSYT 1 PIL—LA X MSYT 4 PIL—LA X X
28807k —)L X X 28807k —)b X X X EA=[:0n
FE= X X pIEEs PE= PP
T )L — I 20| N sgmr P —n X | %X SOl B wmsrpi—n ES-SE]=
MSYF + PIL—LI X X mSYF1PI—L] X X X MSVT 1 PIL—LA




